[HAIMA 15 9H] 2 FIANAELSS 2afele S5 nE=YSYCH
He4ws x 2l 7|2t
BIARRIS AR I
01-01-C-2402778 721
=Pt oto| B2 ol E & EIONES MARSEHS 116-02-12052
gexy: 4d¥E
MERFL 7| BHA| 22 433 35, ofo|C{EH| 2 o2t o 2tx| 1 010-8740-8225
A 032-613-6346
10 MEdY 22T gielo| s = HOokM E 3103y THAM Abel ol Aol TV
o3l ALY ofo|C{E| 3 H =Xy oto|HE| 3 Al ZH 28 0% (A2
Eng pARe el A A=
ulF o Iy Y3 T4
EnAre NYE (R W HE)
HE]
Lol §48 HoiX|E 7|3 gef M e?
21930 =2x 202 1
BIye 2 S8HICZ A1
o|=>
ofElotol £Ef Yotz T
HIZIZ HOSHEREE # EA 4 UTS
Satol =& 2ol
S43| H7| "HetA EASH Tt
=0
HeT R BHALE 22D BHEMSMEE 22
Tad 22z Aol Fu|s aielel 8=
E—— A2 wa| F25HH 21
HE 7N HE _ _
SAE) =25E ¥2 ¥ed
9 L2T SSHI0| DY YE ABE YUSNR
HAYE 58X 19 580| otHz2H mEMELH
SME a9 S4o| otHzH U OHE 62!
of7|ofl 422 A&l v gt 7K
otz tEMENCHHI 20| 7|3 4t
B o
]

g=guxsdo’lT AS

D= A HEE 9?9 Zol

A3 gy

20244 68 18
A el ofo|HEIR

Melolg

REEES W
Molws 24-N1-25-27

7|Et




(=X M AL 1

0
0
oR

ol
<0

A7t

=
=

=>
FE

(=}
=
2
S

g4 cH

ofu

Hi
ol
kto

ol
o
Ko

M2

o
45 MSM 187?70

PR TERN

Lt7| Mol x5 el of
7} 89,0008

T E0EEA

=

2lo| &= }x||

3

=
=
=

o
k=

aa

=

CIEA|
el

~ g
+eE
E

=]
=

|

=

ZeZ BEEMSM 608 7HX|1?
=gd= P E+MSM 18 79,0008

o] 25 £7779,0008!

SAE) 2|7t adct
EHZHNH 2ME
1+1 24|

3=

ALzt

g wa| FESMN

Zolotd Lt

tete> =t

174

o

of
al
i

pd

(2M E Foi

=]
=

ER

=

=

7| Et

&
[0 N
|«
=
E <

N
&0 o]
_u Tl Iy
o | o ~
0 <0

[l

o

o

<0




[EXIMA A1

0
0
oR

ol
<0

PUETSS

Hr

gk

~

]

oo
ol

ol

-

nal

Ar

APZ1Z2E~12.312 7K

s

o

0.22%

<a

0.35%

1.48% FAIHA 0.31% AFE % 0.45% AZRE S5

oh =

He>

Lol

71 /8= /H="Hr

e

(B

b

HEMSM2Z2

=8k 1g 580| ofH2H

2tol ot zh Ui

dE 34 E

=
S

| ot

ol 73]

=
=

OhE| tEMENCHHI 2

uf
=

S+UEE MSM TH

|

B E477HR|

of
al
i

7| Et

&
[ I
GO
=
0L

[aV)
R0 | of
Ll 3l )
o | o | N
< <

]

o

o

<0




[EXIMA A1

0
0
op

ol
<0

| s =4 7kx]

9]

=y
=

/atel

48l

|

=

Al
S2AE) |7t &t

T =2 1) 24

oH
Ml

~NI

tAll 2

o
22 HEE MSM 15 (608) 79,0008 (26,333xF3)

wa| Tof

=1 i
a
2

E

&

FHAL 1+ 2M|

7
89,000 (29,666xF3)

=
™

79,0002/ (26,333xF-3)
89,0002/ (29,666xF3)

I

SHALZE ZLE7| Fofl K|
tojf 2l :

3
&
5
ale|
T

Taglol /XY ghE)

Z7H /14 2M E?
70| FEHlE

Zolotdct

=
=
o
Ij

=
=)

=

Hi

ol

3

7ol

ol
Tl

ol
<0
0

7| Et

-

Ru

ol
<0

24-N1-25-27

7|Et

CEE




